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U, = 6V,C = 1000uF, R = 1k2. Higr = RC = 1s

M 200ms/ Delay:-1.40s

| Sa 1.00MSals
| Curr 2.80Mpts
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48— 2: F|IREM LY

Us, =6V,C =1000puF, R = 1k$2, #igT = RC = 1s
IGLENT M 200ms/ Delay:-372ms

Sa 200kSals
Curr 2.80Mpts

Uc1 Uc2 At T

v 4.16V 0.964s 0.964
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LG FreRimRz TRIEIFZZEML
TS AV pp, ik E2Vdc
B—MER

M SH: R = 1k02,C = 0.1uF, f = 100Hz, T =1-102s

IR

Higr =1-10"%s
IGLENT

W 5.00ms/ Delay:0.00s

Sa 200MSals
Curr 14.0Mpts

ﬁﬁg II{H[1]=4.32V FEJEA[1]=10.00ms IBUR{E[2]=6.04Y
{fmath=CH2-CH1, TEIR&HHIMath(Ugr)lER, BE—FXTHIEEEENMLE.

SIGLENT M 5.00ms/ Delay:0.00s

Sa 200MSals

3/9



BIMIER
HESH: R=1k2,C =0.1uF, f = 1kHz, T =1-103s

Os
Sa 1.00G3als
Curr 7.00Mpts
CH1

MigT =1-10"%s

M 500us/ Delay:0.0

J
it " " i 7
: i i i 14 H I DCTM
f-' f—

i
] u ] ! ] ! F, U u 4
P P Eo Eo o P i
| ’, ! £ y ! \ ” \ ¢ \ ¢ |
{ | | | | | ¢ | ; | ' | ; DC1M
. ! ' S B [ i ! b ! ! 4
1 by 5 1 '. . ' 1 y 1
1 ; ! ! y ! ! 1 )
\ ' l ' ! i i ' i ' l '
{ g ] 14 ! 1 ! ;
! : , : A . : . | !
i3 i ‘ i3 i i ._v“ i .:‘ i
. b .
s \ \.
s, A
&

LRIE{E[1]=4.28Y FEIHA[1]=1.00ms IBIB{H[2]=6.00V

BE&Math(U g)HIE &

Sa 1.00G3als
Curr 7.00Mpts

M 500us/ Delay:0.00s

IBIZ{H[2]=6.04Y
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E=FER

HE S R=51k2,C =0.1uF, f =2kHz, T =5-10"1s
HigT = 5.1-1073s

IGLENT

M 200us/ Delay:0.00s

Sa 1.00G3als
Curr 2.80Mpts

R
b
d?’}f
)
.

L
GhiE IBUE{E[1]=408.00mV FEIRA[1]=21.21us IBIE{E[2]=6 .40V

EFAmeasurelll£ 7, #EEMZEEIUKIBENU,, = 2.10V,U, = 1.66V

MRS - IE AU R AU .
T NSy - UL, fahUs.

wmU, = U
T/2
U =4+ (U() — 4)6_T
T/2
U2 = Ule_T
AU = Uy
fihe = 0.95
Uy = 1.95V
73 2 H, AN .
fRfgEis L . {Ul 905V
Vyp = 0.1V

MEFR £90.408V, AIRER(E SRR NAEREZERMAE T THSITMERRETXR.

BE&math(Ug)HEI&
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IGLENT h 200us/ Delay:0.00s

Sa 1.00G3als
Curr 2.80Mpts

| [— —
D ETHEER-CH DIVANROS 00V 87 | ™, o e B DC 1M
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L
FiE IUE{E[1]=400.00mV FEIRA[L )=k BIE{E[2]=6 40V
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S il U 7 R b (| VR

NI : Vpp = 6V, f = 400H 2
EHER, = 10002, Ry = 2002

KEHEAMIRINA, BEEID LN
IGLENT

M 500us/ Delay:0.00s

Sa 1.00GSals
Curr 7.00Mpts
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HFiE IBIE{H[2]=6.28V BAE[1]=304.00mY B/ME[1]=-304.00mY FlEA[2]=2.50ms
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[

SCISP0: —RrERE

TS %: BV, 200Hz

iS4 R=1002,C = 0.1uF,L = 20mH

TEZ®#Z (Channell) NEAMIKEE, L@ (Channel2) NEMEMIKEE (RAREEE) .

SRR RIMBRF SRR, FERI, BERERATEEUENE, BRNAIT0, MU, AEEBRERIIE
FRAIRI, {EREMEEFRIZE,

AL, N RBHIREREREIEE, ERER1/108, FROERIMEEEIRZRNE,

SIGLENT

M 200us/ Delay:0.00s

Sa 1.00G3als
Curr 2.80Mpts

|
HFig JERA[2] =k BAME[2]=-2.00mY B/ME[2]=-134.00mV JEIHR[1]=* ok

ERXYZFENMEFZER, MTE, XHEABEEY, YHABREMIREE, TN ERFIEREN,
SIGLENT M 20.0ms/ Delay:0.00s

Sa 5.00MSals
Curr 1.40Mpts
CH1

B DC1M

HFiE JEIHR[2]=H 4 BHE[2]=-2.00mY B/ME[2]=-172.00mY FEHA[1]=5.00ms
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M 500us/ Delay:0.00s

JIHRLL =4k

73 O

M 200us/ Delay:0.00s

A E AR E AR DA A TR |

y1 y2 x1 x2 Tq
6.8V 4.88V 36us 320us 284us
1 h 1 6.8
o= —ln St In =1168.2

ha 284us  4.88

1
wq = 277?51 = 22123.9

5EIp L
R
— Y 2500
DY)

/1
wg =/ wi —a?= ﬁ—a2:22220.5

w5 ERERRAEIE, BR, PTELERE, AKRBRESHEALLOANS0QNHEE, B, BRNEEBARER
EA, A8 ,Jﬂlﬁﬂﬁqﬂf’:iﬂ’]ﬁ%}ﬁﬁﬁz PRER, LRFNERERA, REVEEREEEEN T X—
o, (SREEEXNTU_RHREIFT—H) . EEHEHELR N, F—ENIEE,
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